Appendix: Subjects’ Instructions

Instructions

Welcome to the EconLab at UCSD

Please wait for instructions before continuing

ait before continuing
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Instructions

Experiment Instructions

depend in part on your decisions and in parton chance. We will pay you your earnings in cash atthe end. The experiment is set up 5o that you cantend up owing us money. The
stakes for the gamhbles, and the chances of winning or [osing, will vary.

During the experiment we will show you various gambles, The stakes for the gambles, and the chances of winning or losing, will vary,

A gamble might look like this

gain is $10.00
Each 1 percent increasein the pie decreases the possible earnings by 10 cents

Each 1 percent decreasein the pie increases the ible earnings by 10 cents
. —
[The option like mostis:
45 | out of 100 chance of Gaining $5.50
If this decision page is chosen, this is the option we will carry out.

This would mean you have a 45 out of 100, ar 45% chance ofwinning $5.50, and a 55% chance of winning nothing

Sorme gambles irvolve l0sses, like this

Maximum loss is $10.00
Each 1 percent decreasein the pie inereases the possible losses by 10 cents
Each 1 percent increasein the pie decreases the ible losses by 10 cents

o

We're paving you $20 for participating in this experiment. During the experiment you can either add o this amount, orlose some or all of it. Whether you win more money, or lose, will
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[The option | like Jeastis:
20 out of 100 chance of Losing $8.00

If this decision page is chosen,
e will randomly chose among the avaitable options exceptthis one

This would mean that you have a 20 in 100, or 20%, chance oflosing 8 dollars, and a 80% chance of losing 0 dollars

In the experiment you will consider many Options of gambles. The gambles will differ according to the amount of money at stake, and the chances ofwinning of 10sing that rmoney.
The gambles in a given Option will either all be over gains, or all be over losses, there will never he a mixture.

ITthe garnbles in an Option are over gains, you'll need to tell us which gamble in the you like the most. Ifthe gambles in an Option are over losses, you'll need to tell us which you like
the least.

An Option of gambles over gaimns might look like this. Motice, you see all available gambles in the Option by moving the slider bar back and farth - give it 2 ryl

Maximum gain is $10.00
Each 1 percent increase in the pie decreases the possible earnings by 10 cents
Each 1 percent decrease in the pie increases the possible earnings by 10 cents

)

[The option | like mostis:

o out of 100 chance of Gaining $10.00

If this decision page is chosen, this is the option we will carry out.

Motice that in this exarnple, every time you ty to increase the chance of gaining by 1 percentage point, you reduce the arnount you would gain by $0.10. Likewise, each time you
increase the amount vou can gain by 81, you reduce the amount you gaining it by 10 percentage points ithat is 1 divided by 10). In Options over gaing, vou will choge the gamble you
like most. An Option of gambles over fosses might ook like this. Again, you see all available gambles in the Option by moving the slider bar back and forth -- give it a tryl

Maximum loss is $10.00
Each 1 percent decrease inthe pie increases the possible losses by 16.67 cents
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Instructions

Motice that in this example, every fime you iry fo increase the chance of gaining by 1 percentage point, you reduce the amount you would gain by $0.10. Likewise, each fime you
increase the amountyou can gain by §1, vou reduce the amount vou gaining it by 10 percentage points ithatis 1 divided by 100, In Options over gains, you will choge the gamble you
like most. An Option of gambles over Josses might look like this. Again, you see all available gamhles in the Option by moving the slider bar back and forth -- give it a try!

Maximum loss is $10.00
Each 1 percent decrease inthe pie increases the possible losses by 16.67 cents
Each 1 percent increase in the pie decreases the ible losses by 16.67 cents

[The option | like feastis:
40 out of 100 chance of Losing $6.67

If this decision page is chosen,
we will randomly chose among the ilable options except 38, 39, 40, 41, and 42

Motice that in this exarnple, every tirme you try to increase the chance of losing by 1 percentage point, you reduce the amount you would lose by 01667, Likewise, each tirme you
increase the amountyou can lose by §1, you reduce the amount you gaining it by 8 percentage points ithat 15 1 divided by 16.67)

All the gambles that invalve losses are undesirahle. But some might seem waorse than others. We will ask you to carefully examine the gamhbles, and then select the gamble that you
like least

During the experiment, we will show vou a series of Options like those above, asking you to selectyour maost or least preferred gamble for each Option.

After youve made all your choices, your earnings will he decided as follows. YWe will randomly pick one of the Options to be the "Option that counts," by drawing a card from a deck with
a card representing each Option. Ifthis Option invalves gains, you will play the gamble thatyou liked most on the Option

Ifthe Cption involves losses, we'll pick the gamble by taking a deck of cards representing all the gamhbles in the list, removing the card for the gamhble you like the least, plus the two
gambles above and the two gambles below, and then drawing a card fram the remaining deck to indicate the gamble that will be played. Forinstance, ifin the example above you
selected "30 out of 100 chance of Losing $8.33" then we would remove all five ofthese gambles from the deck:

@ 28 outof 100 chance of lasing $8.67
@ 29 out of 100 chance of losing $8.50
@ 30 out of 100 change of lasing $8.33
@ 31 outof 100 chance of loging $8.17
@ 32 outof 100 chance of lasing $8.00

Onece weve picked a gamble, we will randomly pick an rfrom 1 to 100, and that r will determine the outcome of gamble you are plaving, as follows

& [Tthe gamble you picked is over gains, then iTris 1ess than the chance of gaining for the gamble you picked, you win the gamble
& [fthe gamhble you picked is over loses, then if ris less than the chance of losing for the gamble that was picked, vou lose the gamble

Since you don't know which Option of gambles we will pick, you should treat each Option as if itis the one that counts, and mark your choice as ifyou are choosing anly frorn that
Option
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Instructions

Suppnse we have chosen this Option to he the one that counts, and that v bave decided that the ganhle ™|
you like yaost is a 20 out of 100 chance of gaining $3.00

Maximum gain is $10.00
Each 1 percent increasein the pie decreases the possible earnings by 10 cents
Each 1 percent decreasein the pie increases the possible earnings by 10 cents

If r turned out to he 10, how much would you get paid? Include the initial $20

‘ || Check Answer |

[fr turned out to be 90, how much would you get paid? Include the initial $20

‘ || Check Answer |

i}

[The option | like mostis:
20 out of 100 chance of Gaining $8.00

if this decision page is chosen, this is the option we will carry out.

Continue to Part 2 | | Back |




Instructions

Suppnse we have chosen this Option to he the one that counts, and that v bave decided that the ganhle ™|
vou like paost is a 55 out of 100 chance of gaining $4.50

Maximum gain is $10.00
Each 1 percent increasein the pie decreases the possible earnings by 10 cents
Each 1 percent decreasein the pie increases the possible earnings by 10 cents

If r turned out to he 10, how much would you get paid? Include the initial $20

‘ || Check Answer |

[fr turned out to be 90, how much would you get paid? Include the initial $20

‘ || Check Answer |

—
[The option | like mostis:

55 | out of 100 chance of Gaining $4.50
if this decision page is chosen, this is the option we will carry out.

Continue to Part 3 || Back| |
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Maximum loss is $5.00
Each 1 percent decreasein the pie increases the possible losses by 5 cents
Each 1 percent increasein the pie decreasesthe losses by 5 cents

you like Jegst is a 40 out of 100 chance of losing $3.00

Which of the following garbles can NOT be randomly picked for you to play?

[[]38% chance of losing $3.10
[_]25% chance of losing $3.75
[[]70% chance of losing $1.50
[]41% chance of losing $2.95
[] 43% chance of losing $2.85

Check Answer

Suppose that the gamble we have chosen is a 25% chance of losing §3.75

[f r turned out to be 10, how much would you get paid? Include the il $20

C {} | " Check Answer |

he option | like feast is: If r turned out to be 90, how much would you get paid? Include the initial $20
40 out of 100 chance of Losing $3.00

this decision page is chosen,

& will randomly chose among the available options exceptthis one | " ek Anauer |

Suppnse we have chosen this Option to he the one that counts, and that v bave decided that the ganhle ™~

Continue to Part 4 | | Back |
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Maximum loss is $5.00
Each 1 percent decreasein the pie increases the possible losses by 5 cents
Each 1 percent increasein the pie decreasesthe ible losses by 5 cents

Suppnse we have chosen this Option to he the one that counts, and that v bave decided that the ganhle ™~
you like Jegst is a 75 out of 100 chance of losing $1.25

Which of the following garbles can NOT be randomly picked for you to play?

[C]190% chance of losing $0.50
74% chance of losing $1.30
77% chance of losing $1.15
[_] 70% chance of losing $1.50
[[]172% chance of losing $1.40

Suppose that the garnble we have chosen is a 75% chance of losing $1.25
Becanse you chose to diminats thiz gamble from consideration,

we instead chose 90% chance of lnsing $0 50

If r turned out to be 10, how much would you get paid? Include the initial $20

If r turned out to he 90, how much would you get paid? Include the initial $20

; —

he option | like Jeast is: ‘1 a.50 ” Correct! |
75 out of 100 chance of Losing $1.25

this decision page is chosen,

& will randomly chose among the available options exceptthis one ‘1 4.50 ” SUER |






